a) 5783 — 844 =

b) 6737 — 759 =

c) 1205 — 398 =

d) 2037 — 889 =

e) 2037 — 1589 =
2.

Complete the missing number to make this statement true.

568 + = 1,010

L+|]5
-262
2

4.

Dora and Mo are collecting book tokens.
Dora has collected 1,452 tokens.
Mo has collected 621 tokens fewer than Dora.

Represent this scenario on a bar model.
What can you find out?

5.

A shop has 8435 magazines.
367 are sold in the morning and 579 are sold in the afternoon.

How many magazines are left?

8435
367 579 ?

There are magazines left.




6.

A supermarkethas 1284 loaves of bread at
the start of the day.

Duringthe day, 857 loavesaresoldand a
further589 loaves are delivered.

How many loaves of bread are there at the
end of the day?

7.

Johnis havinga garden party.

He will need tomake 4,250 sandwichesin
total.

He makes 1,500 tuna, 750 cheese, 1,350 ham
and 920 egg.

He decides to make the rest cucumber.

How many cucumbersandwiches willthere
be?

8.

On Monday, Tony cycles 1,340 metres.
On Tuesday, he cycles 2 kilometres.

What is the difference between the distances he cycles on
Monday and Tuesday?

Give your answer in metres.



